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SSC GD CONSTABLE 2023 FOUNDEriON_BATGH

A and B can finish a work in 30 days, B and C in 40 days
while C and A in 60 days. How long will they take to finish it
while working together?

A 3 B T%F 19 FY 30 fRAT #, B3R C 40 f*Ai & , AR C 60
fai W QX7 X TR 81 TF AT FTH L T 0 T FA | I
FoRaeT 0T FRT?

(3) 285 days
(4) 277 days

https://t.me/MathbySuryaveersir




) SSC GD CONSTABLE 2023 - FOUNDATION BATCH _
— A and B can do a piece of workin 12 days,Band Cin 8
days, and C and A in 6 days. How long would B take to do

the same work alone?

ARB12fewi#, 8 BiRC k6 RATH C R A+
FX TFHA gl THSA IHT FTH FT A | B FT FhaaT 997 91?7

(1)24 days

2) 32 days
3) 40 days

(4) 48 days

https://t.me/MathbySuryaveersir
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SSC GD CONSTABLE 2023 FOUNDEriON_BATGH

A and B together can do a piece of work in 4 days. If A alone
can do it in 6 days, in how many days B can alone complete
the same piece of work ?

ARBRT4 RN AT FA AT IRATFAI6
ot # X ghar g, AT B fhae R A U ST FH QU F qahar 87

(1)
(2) 8 Days
(3) 9 Days
(4) 16 Days

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
A is twice as good a workman as B; and together they
finish a work in 16 days. In how many days can it be
done by each separately?
A, B & IRAT =T FTH FLA ATAT §; SACATTH 7 16 feai &
T HTH G FLQ gl TAF AR G A=A Tohaet oAt &
et ST gohaT 872

(1)[24 days, 48 days |
(2) 22 days, 24 days
(3) 23 days, 25 days
(4) NONE OF THESE

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
A and B together can complete a work in 8 days and B and
C together in 12 days. All of them together can complete the
work in 6 days. In how much time will A and C together
complete the work?
AMNRBTF AT AT H FIH QT FLTFA 8 X B A C TH
T 12 oo § T T a3l X a9t A< 6 fod & 10 QT <
ghd gl A 3T C T 919 faFrae 987 § FTH T H47?

(E Gy ]

(2) 10 days
(3) 12 days
(4) 20 days

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
A and B, working separately, can mow a field in 12 and
15 hours respectively. They work alternately, each for
one hour, with A beginning at 5 a.m. At what time will the

mowing be completed?
A AT B, EdTET § F Fd gX, FAM: 123165 H
T FIE GFA 3. F ATUA-T10 § FTH @ g, T He & g

TAF, 5 ToT A TN FLAT & (5 THIT AT F1eEA T FIH T
g STET?

(1)5:15 pm
e
(3) 6:15pm
(4) 6:30 am

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
12 men can complete one-third of the work in 8 days. In
how many days can 16 men complete that work?
12 729 8 {1t # T fAgrs &9 X0 X 9 81 16 SSHt
o foet & 99 10 1 QT FT IFHA 87

(1) 18 days
ST

(3) 14 days

X EVE

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
22 Men can complete 33.33% of work in 16 days
working 6 hour a day . In how many days will 32 men
complete remaining work, doing 8 hour a day ?
22 7Y 16 oot & *rd #1 33.33% Wi faT 6 8¢ Fd g4
YHTE FLIFHA gl ar 32 TV fFaa feai & =T gem A 8
2 TRRT F g B B T FEA?

(fi5.5days |

(2) 12 .5days
(3) 16 days
(4) 9 days

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
18 women can complete a work in 12 days and 12 men can
complete the same work in 9 days. In how many days will 8
men and 8 women complete that work?

18 wfR«Td 12 AT ¥ U F19 9T FX gl & oM< 12 T2T TF &l
19 T 9 oo § T T ahd g1 8 [TV 3T 8 uigey faraer o=t
H I FTH & I FG(T?

(P days |
(2) 6 days
(3) 12 days
(4) 8 days

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
A and B can separately complete a piece of work in 20 days
and 30 days respectively. They worked together for some
time then B left the work. If A completed the rest of the work
in 10 days, then B worked for?
A 30T B et #1d &Y 20 9T 30 fRA7 7 FT a9 g 99T 3 9T
HFAF A B HFA R FE AT AT ATFW A 10 flaqr &
THTH F AT 2,97 B 7 fohae i =1 v 2

S ET
(2) 8 days

(3) 12 days
(4) 16 days

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
A man can do a piece of work in 5 days, but with the

help of his son, he can do it in 3 days. In what time can
his son do it alone?

T T 5 faAT § UF FH FT ARAT 8, AT 79 d HY
Has ¥ 98 39 3 fai ¥ < ahar g1 fraa a9 § S9et 9T
AHAT L AT g7

(1) 7 days
(2) 8 days
OF ]

(4) 6 days

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
While working 7 hours per day, A alone can complete a
piece of work in 6 days and B alone in 8 days. In what time
would they complete it together, working 8 hours per day?
gfa fo 7 ¢ w1 F3d g, A A% 6 oot & 3T B 8 fa=T # arehet
HTH JIT < ghaT gl Fha a0 & 3 30 T 919 [T 9, 71
AT 8 5 T A g ?

(1.3 adys
(2) 4 days
(3) 2.5 days
(4) 3.6 days

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDEI'I_ON_BATGH

| TR

- é\ can write 75 pages in 25 hrs. A and B together can write 135
ages in 27 hrs. In what time can B write 42 pages if its efficiency |

is increased by 50% of itself ?

A 25 = § 75 97 forg gar g1 A 3k B e+ 27 e § 135 g8 fore
aha gl B 9 9097 # 42 g8 forg 9%ar g 3R 9 396 fg9qar 50% |

8 ATAT 8 2

(1) 17 hrs.
(2) 19 hrs. |

[3)14 firs.

(4) 23 hrs.

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
There is sufficient food for 400 men for 31 days. After
28 days 280 men leave the place. For how many days
will the rest of the food last for the rest of the men?
31 R F g 400 Teut F fre gate s €1 28 Rt &
T 280 T ST SiE A F| T T2 & Forg @ v
f&=Tt o =_AT?

WEX VA

(210 days ]

(3) 12 days

(4) 15 days https://t.me/MathbySuryaveersir
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SSC GD CONSTABLE 2023 - FOUNDEI'I_ON_BATGH

A contractor undertakes to dig a canal 12 km long in 350 days and employs
5 45 men. After 200 days he finds that only 4.5 km of the canal has been

completed. Find the number of extra men he must employ to finish the work

in time.

T shar< 350 foet & 12 fadt sielt us g |iae &7 st Adr ¢ 3\ 45 AR &y

QSR 2aT g1 200 T & 915 98 a1aT ¢ o6 98 1 Fa« 4.5 Bt @ gr 9w 2

AT § FTH gL FA & g 39 foraer Afaf=s gout S F-m=T T, S9ehl 6T A1a

ENE LY
(45 men]

(2) 55 men
(3) 65 men

(4) 75 men




é\ and B together can do a work in 30 days ,they worked for 18

ays together but A leave the work due to injury so remaining work
is completed by B in next 28 days then find in how many days B
alone can do a work ?

ANRB A 30 RATA THE R FARd ¢, 9 18 iai F T us

T HTH FLA g, ATRT A T 1L AT ¢ FIE & I al AT FH B gI_T

aTer 28 ot ® g 3T s 8 At A it B e T T FT gFar
&7 (170 days |

(2) 50 days

(3) 80 days
(4) 40 days




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
A can do a work in 6 days and B can do the same work in 5
days. The contract for the work is of Rs 220. How much shall
B get if both of them work together?
A THT 1 %1 6 foat § T ahaT g X B SHT w1l &1 5 foeii &
F THAT gl T HT SHT T 220 FT AT AT T T T FIH FLA
R B & fraar feem?

(1) Rs. 110
(2)[Rs120 ]
(3) Rs. 130
(4) Rs. 150

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
A, B and C contract a work for Rs. 550. Together, A and
B are supposed to do 7/11 of the work. How much does
C get?

A, B T C TF FH HI I FA & ¢ T9F 550 T Sma
2. TF A, AR B FH & 7/11 T Ad gl C Fr Fhaar

fAear g?

(1)Rs.200 ]

(2)Rs. 300
(3) Rs. 150
4)Rs. 250

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
Suresh can do a work in 15 days. Suresh and Ramesh
together do the same work in 10 days. If they are paid Rs
1500 for the work, how should the money be divided

between them?

L 15 AT § T T T TohaT g1 G N WA A< 10 o
H Tal FTH FLQ 8| T Ive I FATSTar g F19 F forg 1500
TAT T, 7% S & Fq i fFar s arfze?

(1)|Rs. 1000, 500
(2) Rs. 700, 800
(3) Rs. 1200, 300
(4) Rs. 1300, 200

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
If the wages of 45 women amount to Rs 46575 in 48 days,
how many men must work 16 days to receive Rs 17250, the
daily wages of a man being double than those of a woman?
If< 45 wigaTsn T worglt 48 fo1i § 46575 8, AT fohaw Towi #it
AMALIFAT R FH FT 16 T A 7 & forg xR s =
17250 f=iwr , afe o= gew &t s wergdt wigar & gaar &

(3) 30 men
(4) 15 men

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH
There is a leak in the bottom of a cistern .when the cistern is

thoroughly repaired

,it would be filled in 8 hour .it now takes 12 hour .if the cistern
is full ,how long would the leak take to empty the cistern ?

T $ & 9 § (79 a1 ¢ .5 $€ $1 AT a8 F AT b
STt 8

, g 8 U H WL SATQIT ., AfFT AT 12 & T & .3 F W g

(1) 20 hr

(3) 30 hr

‘4‘ 15 hr |
https://t.me/MathbySuryaveersir

g, ar REma fast T ¥ g1t ST F9 9% R ?




SSC GD CONSTABLE 2023' - FOUNDATION BATCH
A cistern has a leak which would empty it in 4 hour ,A tap is
turned on which admits 3 It a minute into the cistern ,and it

is now emptied in 6 hours .how many litres does the cistern
hold ?

Fic A REE AT N W49 H @t v 3qT g, TF
T BT ATAT & , ST e ¥ 3 Atex aiq fAwe qrt w<ar g, sk s
T 6 S H GTAT 3 AT 2 fhaw e g smawar € ?

:
(2) 360 It
(3) 3600 It

4) 2800 It

https://t.me/MathbySuryaveersir
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